Zatgcznik nr 2.3.2. do SWZ
Uktad sortymentowy pozyskania drewna

Pakiet: 6
) Adres lesny foete - isci
czynn. Iglaste Lisciaste Razem
S2AD | S2AP | S2BK S4 | W (diuzyca) | W (kioda) S2AD S2AK S2AP S2BD S2BK sS4 W (diuzyca)
WA QREHERED 8 49 19 16 21 7 94 157 21 5 29 18 85 158 315
Razem: llIA 19 16 21 7 94 157 21 5 29 18 85 158 315
02:03-1-10-711 i -00 12 5 2 19 59 41 9 109 128
02:03-1-10-712 -g -00 6 2 8 10 15 4 29 37
02:03-1-10-713 -h -00 10 10 28 8 56 56
02:03-1-10-716 -i -00 5 24 6 35 35
02-03-1-10-721 -a -00 32 25 82 10 13 162 162
o 02:03-1-10-721 - -00 9 2 11 8 7 23 7 45 56
02:03-1-10-723 -b -00 1 1 21 6 18 11 56 57
02-03-1-10-723 -x -00 8 2 10 29 6 34 5 15 5 94 104
02:03-1-10-723 -y -00 3 3 4 7 26 6 43 46
02:03-1-10-729 -a -00 1 1 5 18 5 28 29
02-03-1-10-767 -c -00 20 17 3 40 18 10 6 34 74
Razem: TPP 49 28 16 93 191 71 319 15 %0 5 691 784
02:03-1-10-710 ¢ -00 12 12 4 28 28
02:03-1-10-711 - -00 2 2 14 10 3 27 29
02-08-1-10-715 -c -00 6 1 7 60 37 10 12 119 126
Twp 02:03-1-10-735 -a -00 28 10 5 43 s 14 11 33 76
02-03-1-10-769 -g -00 3 3 55 15 57 5 17 149 152
02:03-1-10-777 ¢ -00 7 2 9 9
Razem: TWP 34 12 9 55 149 15 137 10 5 49 365 420
- CRREEHE: = = 35 55 18 41 149 20 15 85 40 36 196 345
Razem: PR 35 55 18 41 149 20 15 85 40 36 196 345
- @RRTeE: = = 50 35 23 49 157 30 15 105 50 25 225 382
Razem: PTP 50 35 23 49 157 30 15 105 50 25 225 382
j— @RRTeEn: = = 33 22 16 71 20 7 42 19 88 159
Razem: PTW 33 22 16 71 20 7 42 19 88 159
02:03-1-10-710 £ -00 20 13 13 7 9 149 12 3 12 11 45 83 232
D) 02-03-1-10-715 -d -00 15 4 3 3 7 22 54 64 4 40 3 29 259 399 453
Razem: IVD 35 17 16 10 103 22 203 76 7 52 3 40 304 482 685
R 255] 185 37 99 287 22 885 507 135 769 10 23 306 455 2205 3090




